
Last Minute Information for Exam 2

TYPOS 2a.  .61 +/- .024 is the correct final answer not .012

3A should complete it to get the chance so the area under  Z=.+59 is
.7224 and the area Z fir –1.18 us ,1190  so the chance is .7224-.1190=.6034
(final answer)

Omit 5/6 from the review questions

Omit 10B from the review questions, it’s actually a Chapter 6
question

Extra Office Hours Today (Wednesday 11/17/04 from 4pm-6pm in MS
8923)
I will respond to e-mailed questions sent before 6pm on 11/18/04

From the review

Chapter 16: 4A (see back of this page for 4B), 7A/B
Chapter 18: 1, 2D/E, 3A/B,E  8A/D, 9D, 10A, 11A/B, 13A/B, 14A/B,
16C
Chapter 19: 2A/B/C, 3C/D 8B/C, 9C/E, 13C, 14C, 16A/B
Chapter 20&21: 9A/B, 10C, 11C, 12A-D, 13D, 15, 16D, 17

For extra review
Chapter 16: 1, 2, 9, 10, 15, 16, 17

Test is 110 points with 15 points for filling out the answer sheet
So 125 points total.

Chapter 16: about 19%
Chapter 18: about 25%
Chapter 19:  about 25%
Chapter 20/21: about 19%



Answer sheet: 12%


